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1. Any group that has an actual or

potential interest in or impact on a

company’s ability to achieve its

objective is called as .................... .

(A) Society

(B) Target group

(C) Public

(D) Competitor

2. An important fact about external

macro-environmental forces is that

they are .................... .

(A) positive

(B) negative

(C) controllable

(D) uncontrollable

1. T;k lewgkph daiuhP;k /;s;izkIrhP;k {kersoj

izHkko xktfo.;kph {kerk vlrs rlsp T;kyk

daiuhP;k mÌh"VizkIrhr lqIr vFkok izR;{k

#ph vlrs R;kyk ----------------------------- vls

Eg.krkr-

(A) lekt

(B) y{;lewg

(C) turk

(D) Li/kZd

2. lexz ckgÓ i;kZoj.kkP;k ?kVdkalaca/khph

egŸokph oLrqfLFkrh Eg.kts rs -------------------

?kVd vlrkr-

(A) ldkjkRed

(B) udkjkRed

(C) fu;a=.k{ke

(D) vfu;af=r
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3. After independence under the

leadership of Jawahar Lal Nehru,

India adopted .............................. as its

goal.

(A) communism

(B) democratic socialism

(C) capitalism

(D) philonthrophic capitalism

4. Deficit on ............................... implies

that the residents of a country are

spending more on imports of goods

and services than the incomes they

are earning from exports of goods

and services.

(A) Capital Account

(B) Current Account

(C) Budget

(D) Capital inflows and outflows

3. Lokra´;izkIrhuarj ia- tokgjyky usg: ;kaP;k

usr̀Rok[kkyh Hkkjr 'kklukus ------------------------

gs /;s; Eg.kwu fLodkjys vkgs-

(A) lkE;okn

(B) yksd'kkgh lektokn

(C) HkkaMoyokn

(D) Hkwrn;koknh HkkaMoyokn

4. tsOgk ns'kkrhy jfgoklh oLrw o lsokaP;k

fu;kZrhrwu izkIr gks.kkÚ;k mRiUukis{kk fons'kh oLrw

o lsokaP;k vk;krhoj vf/kd [kpZ djrkr rsOgk

R;kyk ----------------------------- vls Eg.krkr-

(A) HkkaMoyh ys[;kojhy rwV

(B) eglwyh ys[;kojhy rwV

(C) vankti=d

(D) HkkaMoykph vkod o tkod
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5. ............................... became essential

from the point of view of promoting

industrial growth by the creation of

additional productive capacity and

its optimal utilisation.

(A) Privatisation

(B) Industrialisation

(C) Industrial liberalisation

(D) Globalisation

6. The method of project evaluation

that does not consider the full

serviceable life of an asset is ............ .

(A) payback period method

(B) average rate of return method

(C) net present value method

(D) internal rate of return method

5. vf/kd mRiknu{kerk vkf.k frpk i;kZIr okij

d:u vkS|ksfxd fodklkpk nj ok<fo.ks

gÓk n`"Vhdksukrwu ----------------------------- gs

vko';d Bjrs-

(A) [kktxhdj.k

(B) vkS|ksfxdhdj.k

(C) vkS|ksfxd mnkjhdj.k

(D) tkxfrdhdj.k

6. ,[kk|k laiŸkhps iw.kZ dk;Z{ke vk;q"; y{kkr

u ?ks.kkÚ;k izdYi ewY;ekiu in~/krhyk

----------------------------- vls Eg.krkr-

(A) xq aro.kwd olqy dkyko/kh (iscWd

fijh;M)

(B) ljkljh ijrkok nj in~/kr (vWOgjst jsV

vkWQ fjVuZ)

(C) l|fLFkr ewY; in~/kr (usV izs>saV OgWY;w

esFkM)

(D) varxZr ijrkok nj in~/kr (baVuZy jsV

vkWQ fjVuZ esFkM)
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7. ............................... is an expired cost

resulting from productive usage of

asset.

(A) Expense

(B) Cost

(C) Revenue expenditure

(D) Capital expenditure

8. Location, person or an item of

equipment for which cost may be

ascertained and used for the purpose

of control is ...................... .

(A) cost unit

(B) cost centre

(C) profit centre

(D) cost object

9. The method that is applied where

work is undertaken to customers

special requirements is ...................... .

(A) unit costing

(B) batch costing

(C) job order costing

(D) terminal costing

7. ,[kk|k ekyersP;k mRiknu{ke okijkeq̌ s R;kP;k

ifjO;;kph lekIrh gks.;kl -----------------------

vls Eg.krkr-

(A) [kpZ

(B) ifjO;;

(C) vkorhZ [kpZ

(D) HkkaMoyh [kpZ

8. fu;a=.kkP;k gsrwus ,[kkns LFkku] O;Drh] ?kVd

vFkok midj.k ;kaP;k ifjO;;kps fu/kkZj.k dj.ks

Eg.kts ----------------------------- gks;-

(A) ifjO;; ,dd

(B) ifjO;; dsaÊ

(C) ykHk dsaÊ

(D) ifjO;; mÌh"V

9. xzkgdkaP;k fo'ks"k xjtk y{kkr ?ks≈u dk;Z

dj.;klkBh th in~/kr okijrkr fryk
----------------------------- vls Eg.krkr-

(A) ?kVd ifjO;; in~/kr

(B) rqdMh ifjO;; in~/kr

(C) dk;Z vkns'k ifjO;; in~/kr

(D) vafre ifjO;; in~/kr
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10. The costs which are ascertained

after they have been occurred and

are not available until after the

completion of manufacturing

operations are ..................... .

(A) Controllable cost

(B) Predetermined cost

(C) Historical cost

(D) Relevant cost

11. A commodity is called a ‘Giffen

Goods’ when ..................... .

(A) the goods is low priced

(B) it is an inferior goods

(C) the goods does not have

substitutes

(D) negative income effect on

inferior goods is stronger than

positive substitution effect

10. ,[kknh mRiknd fÿ;k iw.kZ gksbZi;±r ts

ifjO;; miyC/k ulrkr vkf.k T;k aph

fuf'prh djrk ;sr ukgh vkf.k T;kaps fu/kkZj.k

izfÿ;k iw.kZ >kY;kuarjp djrk ;srs R;kauk

----------------------------- vls Eg.krkr-

(A) fu;a=.k;ksX; ifjO;;

(B) iwoZfu/kkZfjr ifjO;;

(C) ,sfrgkfld ifjO;;

(D) lanHkk±fdr ifjO;;

11. ,[kk|k oLrqyk ^fxQu oLrw* vls [kkyhy

ifjfLFkrhr Eg.krkr ------------------------------

(A) oLrwph fdaer deh vlrs

(B) oLrw fuEu ntkZph vlrs

(C) Bjkfod oLrwyk i;kZ;h oLrw miyC/k

ulrs

(D) ;k oLrwP;k ewY;koj gks.kkjk udkjkRed

mRiUu izHkko frP;k ldkjkRed i;kZ;h

izHkkokis{kk vf/kd ifj.kkedkjd vlrks
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12. Two commodities are considered

to be perfect substitutes for each

other if the elasticity of substitution

is ............................ .

(A) positive

(B) negative

(C) zero

(D) infinite

13. If nothing is produced, the loss will

be equal to ............................ .

(A) variable cost

(B) total cost

(C) average cost

(D) fixed cost

14. ............................... that works as a

basic criteria of decision by privately

owned and controlled firms.

(A) Profit maximisation

(B) Wealth maximisation

(C) Return on investment

(D) Return on capital employed

12. tsOgk i;kZ;kph yofpdrk ------------------------

vlrs rsOgk nksu oLrw ,desdkauk vpwd i;kZ;

vkgsr vls ekuys tkrs-

(A) ldkjkRed

(B) udkjkRed

(C) 'kwU;

(D) vuar

13. tsOgk dkghp fuekZ.k dsys tkr ukgh rsOgk

gkuh (rksVk) ----------------------------- P;k cjkscj

vlrs-

(A) py ifjO;;

(B) ldy ifjO;;

(C) ljkljh ifjO;;

(D) fLFkj ifjO;;

14. [kktxhfjR;k fu;af=r o LokfeRo vl.kkÚ;k

laLFkk apk fu.k Z; ?k s.;kpk eq[; vk/kkj
----------------------------- gk vkgs-

(A) ykHk egŸkhdj.k

(B) laiŸkh egŸkhdj.k

(C) xqaro.kwdhojhy ijrkok

(D) xqarfoysY;k HkkaMoykojhy ijrkok
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15. The objective of ............................... is

not to recover cost but to realise

the value of the product persued

by the customers.

(A) tender pricing

(B) value pricing

(C) differentiated pricing

(D) psychological pricing

16. Arithmetic mean of 5 items is 20.

The smallest item is 10 and the

largest item is greater than smallest

by 14. If the largest and smallest

items are ignored, the arithmetic

mean of new items will be ................. .

(A) 22

(B) 24

(C) 22.5

(D) 23.5

15.
----------------------------- ;k ewY;/kksj.kkps mÌh"V

gs ifjO;;kps olqyh dj.ks ulwu xzkgdkauk

izkIr gks.kkÚ;k eqY;kuqlkj fdaer Bjfo.ks gs

vkgs-

(A) fufonk fdaer

(B) ewY;kf/k"Bhr fdaer

(C) foHksnkRed fdaer

(D) ekul'kkL=h; fdaer

16. 5 ?kVdkapk vadxf.krh; ek/; 20 vkgs-

lokZr ygku ?kVd 10 vkgs vkf.k lokZr

eksBk ?kVd 14 vkgs- tj lokZr ygku vkf.k

lokZr eksBk ?kVd nqyZf{kr dsys rj ufou

vadxf.krh; ek/; ----------------------------- vlsy-

(A) 22

(B) 24

(C) 22.5

(D) 23.5
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17. Mrs. X gave birth to 5 children in

alternate years. Then the standard

deviation of the ages in years of

these children will be .................... .

(A) 4

(B) 10

(C) 8

(D) 10

18. The statistical test used for testing

the null hypothesis of equality of two

population variances is .................... .

(A) Chi-square test

(B) t-test

(C) Z-test

(D) F-test

19. If the correlation coefficient between

two variables is +1 or –1 then the

regression lines are .................... .

(A) parallel

(B) at 0 degree

(C) perpendicular to each other

(D) do not exist

17. lkS- ,Dl ;kauh 5 eqykauk ,dk vkM ,d o"khZ

tUe fnyk rj ;k eqykaP;k o;kaps izek.k

fopyu ----------------------------- vlsy-

(A) 4

(B) 10

(C) 8

(D) 10

18. nksu lexzkaP;k leku fopyukps x`ghrd

rikl.;klkBh ----------------------------- gh

la[;k'kkL=h; pkp.kh okijrkr-

(A) dk;&LDosvj VsLV (Chi-square test)

(B) Vh&VsLV

(C) >sM&VsLV

(D) ,Q&VsLV

19. tj nksu pykae/khy lglaca/k lgxq.kd +1

fdaok –1 rj nksu lekHkze.k js"kk -------------

(A) lekarj vlrhy

(B) 'kwU; va'kkoj vlrhy

(C) dkVdksukr vlrhy

(D) vkfLrRokr ulrhy
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20. In time series analysis, the method

which cannot be used for forecasting

is .................. .

(A) Graphical method

(B) Fitting of straight line trend

(C) Moving averages method

(D) Fitting of second degree

parabola

21. Planning, organizing, command,

coordination and control as

managerial functions were given

by .................. .

(A) Frederic Taylor

(B) Henry Fayol

(C) W. French

(D) E. Mayo

22. Motivation is basically a .................. .

(A) sociological process

(B) physiological process

(C) psychological process

(D) intellectual process

20. dkyekysP;k fo'ys"k.kke/;s -----------------------

;k iºrhpk mi;ksx vuqeku dk<.;klkBh

gksr ukgh-

(A) vkys[kh;

(B) ljˇjs"kk izo`Ÿkh Bjfo.ks

(C) gyrh ljkljh

(D) f}rh; Js.kh oÿ Bjfo.ks

21. fu;kstu] la?kVu] vkns'k] leUo; vkf.k

fu;a=.k ;k O;oLFkkidh; dk;k±ph ladYiuk

----------------------------- ;kauh fnyh-

(A) ›sfM™d Vsyj

(B) gsUjh Qs;kWy

(C) MCY;w- ›sap

(D) b- ek;ks

22. vfHkizsj.k gh ewyr% ----------------------------- vkgs-

(A) lekt'kkL=h; izÿh;k

(B) 'kjhj'kkL=h; izÿh;k

(C) ekul'kkL=h; izÿh;k

(D) ckSfºd izÿh;k
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23. O;oLFkkiuk}kjs fopkjeaFkukps ra= ---------------

lkBh okijys tkrs-

(A) fuekZ.kh LFkˇkojhy dk;Z vkoaVu@okVi

(B) leL;k lksMfo.;klkBh i;kZ;kaph fufeZrh

(C) la'kks/ku o fodkldk;kZps izorZu

(D) deZpkÚ;kaps izf'k{k.k

24. vukSipkfjd la?kVusph lokZr eksBh dedqorrk

Eg.kts %

(A) rs iw.kZr% vfLFkj vlrs

(B) R;kP;k orZ.kwdhpk usedk vankt cka/krk

;srks

(C) R;kP;kr ifjorZu ?kMowu vk.krk ;sr

ukgh

(D) rs pSrU;'kwU; vlrs

25. ekuoh lalk/kukP;k O;oLFkkiukl ---------------

gh laKk nsf[ky izpyhr vkgs-

(A) deZpkjh p;u

(B) fu;a=.k

(C) fu;kstu

(D) leUo;

23. Brainstorming is used by the

management for ............... .

(A) work allocation on the shop floor

(B) generating alternatives for

problem solving

(C) the promotion of research and

development

(D) training of employees

24. The greatest weakness of the

informal organization is ............... .

(A) its utter instability

(B) its behaviour can be predicted

(C) it does not change

(D) it is spiritless

25. The management of personnel is

also called as ............... .

(A) staffing

(B) controlling

(C) planning

(D) co-ordinating
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26.
----------------------------- ,d Lok;Ÿk o osxˇh

la?kVuk Eg.kwu dk;Z djrs] Lor%ps ftfor

/;s;] mfÌ"VÓs] cktkjisB ;kstuk ;kaph Lora=

vk[k.kh djrs-

(A) O;wgjpukRed O;kolkf;d ,dd

(B) cktkjisB foHkkx

(C) mRiknu foHkkx

(D) lgk∏;d ,dd

27. cktkjisB fu;a=.kkps ra=] mÌh"VkaP;k izkIrhps

dkycn~/k ewY;ekiu vkf.k leL;k o la/khps

ewY;ekiu dj.;kP;k in~/krhyk -----------------

Eg.krkr-

(A) cktkjisB vads{k.k

(B) mRikndrk vads{k.k

(C) cktkjisB fgLlk fo'ys"k.k

(D) cktkjisB fu;a=.k fo'ys"k.k

26. ............................... operates as a

separate autonomous entity and

establishes its own mission

statement, objectives and marketing

plan.

(A) Strategic business unit

(B) Marketing division

(C) Product division

(D) Subsidiary unit

27. The process of evaluation of

marketing control mechanism,

periodic examination of achievement

of objectives and identifying

problem area and opportunities is

termed as .................... .

(A) marketing audit

(B) productivity audit

(C) market share analysis

(D) marketing control analysis
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28. Customer base, customer service,

customer satisfaction and customer

loyalty development are the pillars

of ........................ .

(A) retail management

(B) relationship management

(C) customer development

programme

(D) societal concept of marketing

29. The marketing concept, which is

based on development, design and

implementation of marketing

programme that recognises their

scope is termed as ........................ .

(A) general marketing

(B) holistic marketing

(C) value based marketing

(D) target marketing

28. xzkgd vk/kkj] xzkgd lqfo/kk] xzkgd lek/kku]

xzkgd fu"Bk fodkl gs -----------------------------

ps vk/kkjLraHk vkgsr-

(A) fdjdksˇ O;oLFkkiu

(B) fgrlaca/k O;oLFkkiu

(C) xzkgd fodkl dk;Zÿe

(D) cktkjisBsph lkekftd ladYiuk

29. cktkji sB dk; Zÿekph O;kIrh] jpuk]

fodkl o vaeyctko.kh ;k ?kVdkaph

O;kIrh vkš [kwu R;k y{kkr ?ks.kkÚ;k ladYiusyk

----------------------------- vls Eg.krkr-

(A) lkekU; cktkjisB

(B) lexz cktkjisB

(C) ewY;kf/k"Bhr cktkjisB

(D) y{kkf/k"Bhr cktkjisB
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30. The marketing process that is

carried out through Internet to

provide facilities to customers, lower

the cost and increase the profit is

termed as ................... .

(A) e-marketing

(B) wireless marketing

(C) cyber marketing

(D) modern marketing

31. ............................... represents the

assets backing for equity shares.

(A) Fair value

(B) Market value

(C) Intrinsic value

(D) Book value

32. A person who subscribes to new issue

of share with a view to sell them

when the price rises is ................... .

(A) investor

(B) bear

(C) bull

(D) stag

30. ifjO;;kr dikr] ykHkkr ok< dj.;klkBh

o xzkgdkauk lqfo/kk iqjfo.;klkBh baVjusVpk

okij d:u th foi.ku izÿh;k okijyh tkrs

fryk ----------------------------- Eg.krkr-

(A) b&ekdsZVhax

(B) fcurkjh foi.ku

(C) lk;cj foi.ku

(D) vk/kqfud foi.ku

31. leHkkxkauk ----------------------------- ekyeŸksps

izkfrfuf/kd ikBcˇ vlrs-

(A) mfpr ewY;

(B) cktkjisB ewY;

(C) vaxHkwr ewY;

(D) iqLrewY;

32. fdaerhr ok< gksbZy ;k vk'ksus tks uO;kus fuxZfer

>kysys leHkkx fodr ?ksrks v'kk O;Drhyk
----------------------------- vls Eg.krkr-

(A) xqaro.kwdnkj

(B) eanhokyk

(C) rsthokyk

(D) vk'kkoknh xqaro.kwdnkj
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33. ............................... is the investment

analysis wherein the future price of

a particular share is studied on the

basis of past price movements.

(A) Equity analysis

(B) Market analysis

(C) Technical analysis

(D) Fundamental analysis

34. When a company has the aggregate

of the par value of its shares

exceeding the true value of its fixed

assets, it is termed as .................. .

(A) capital gearing

(B) trading on equity

(C) overcapitalisation

(D) undercapitalisation

33.
---------------------- gs vls xqaro.kwd fo'ys"k.k vkgs

dh T;ke/;s ,[kk|k leHkkxkP;k ekxhy

dkefxjhP;k vk/kkjkoj Hkfo";dkyhu ewY;kps

fu/kkZj.k dsys tkrs-

(A) leewY; fo'ys"k.k

(B) cktkjisB fo'ys"k.k

(C) rkaf=d fo'ys"k.k

(D) ewyHkwr fo'ys"k.k

34. tsOgk ,[kk|k daiuhP;k fLFkj ekyeŸksP;k

izR;{k ewY;kis{kk frP;k leHkkxkps ,df=r

leewY; tkLr vlrs R;kyk ----------------------

vls Eg.krkr-

(A) HkkaMoy larqyu (dWfiVy fxvjhax)

(B) leewY;koj vk/kkfjr HkkaMoyhdj.k

(V™sfMax vkWu bfDoVh)

(C) vf/kHkkaMoyhdj.k

(D) vYiHkkaMoyhdj.k
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35. A financial and/or quantitative

statement prepared prior to a

defined period of time for the

purpose of attaining a given

objective, is termed as ................... .

(A) goal

(B) project

(C) programme

(D) budget

36. Moving workers from one job to

another is known as ................... .

(A) Job Enlargement

(B) Change of Role

(C) Job Rotation

(D) Job Appraisal

35. fof'k"V mÌh"V izkIr dj.;kP;k gsrwus r;kj

dsysys foŸkh; vkf.k la[;kRed fooj.k

Eg.kts ---------------------------- gks;-

(A) /;s;

(B) izdYi

(C) dk;Zÿe

(D) vankti=d

36. ,dk dk;kZiklwu nqlÚ;k dk;kZoj dkexkjkauk

LFkkukarfjr dj.;kP;k izfÿ;syk -----------------

vls Eg.krkr-

(A) dk;ZfoLrkj

(B) Hkwfedkcny

(C) dk;ZvkorZu

(D) dk;Z ewY;kadu
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37. ............................... test measures

preference reactions of employee to

particular occupation/job.

(A) Attitude

(B) Projective

(C) Personality

(D) Interest

38. Ability to apply knowledge in

solving a problem is measured in

............................... test.

(A) intelligent

(B) achievement

(C) aptitute

(D) judgement

39. Transactional analysis is a

............................... method of training.

(A) experiencial

(B) knowledge based

(C) simulation

(D) on-the-job

37.
---------------------------- ;k pkp.khP;k ek/;ekrwu

deZpkÚ;kapk fof'k"V O;olk; vFkok dk;kZizrh

izk/kkU;ÿekph izfrfÿ;k tk.kwu ?ksryh tkrs-

(A) izo`Ÿkh

(B) Hkfo";dkˇkpk os/k ?ks.ks

(C) O;fDreŸo

(D) #ph

38. ,[kknh leL;k lksMfo.;klkBh Kkukpk okij

dj.;kP;k {kersyk ---------------------------- pkp.kh

vls Eg.krkr-

(A) cqfºeŸkk

(B) lk/;rk

(C) izo`Ÿkh

(D) fu.kZ;u

39. O;ogkj fo'ys"k.k gh ----------------------------

izf'k{k.kkph in~/kr vkgs-

(A) iz;ksxkf/k"Bhr

(B) Kkukf/k"Bhr

(C) izfrœrhdj.k

(D) dk;k Z f/k"Bhr (i zR;{k dkekojhy

izf'k{k.k)
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40. Following is not the form of workers

participation in management

(WPM) ....................... .

(A) Joint Management Council

(B) Board Representation

(C) Suggestion Scheme

(D) Informative Participation

41. The banking system which has

obviated the need for brick and

mortar branch of bank is termed

as ....................... .

(A) telebanking

(B) electronic banking

(C) virtual banking

(D) personal banking

42. A bankers lien is always a

............................... lien.

(A) particular

(B) general

(C) quasi

(D) free

40.
---------------------------- gk ?kVd dkexkjkaP;k

O;oLFkkiukrhy lgHkkxkpk Hkkx gks≈ 'kd.kkj

ukgh-

(A) la;qDr O;oLFkkiu ifj"kn

(B) lapkyd eaMˇkojhy izfrfuf/kRo

(C) lwpuk;kstuk

(D) ekfgrhoj vk/kkfjr lgHkkx

41. vkdkjcn~/k vf/kdk s" k.kkph xjt T;k

vf/kdks"k.k iºrhe/;s Vkˇyh tkrs R;kyk

---------------------------- vls Eg.krkr-

(A) nwjHkk"k vf/kdks"k.k

(B) bysDV™kWfud vf/kdks"k.k

(C) vkHkklh vf/kdks"k.k

(D) O;fDrxr vf/kdks"k.k

42. vf/kdk s"kdkpk /kkj.kkf/kdkj gk u sgeh

---------------------------- /kkj.kkf/kdkj vlrks-

(A) fo'ks"k

(B) lkekU;

(C) vkHkklh

(D) eqDr
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43. To constitute a person as a customer

in a bank there must be .............. .

(A) some sort of an account

(B) a single transaction of any

nature

(C) a dealing of banking nature

(D) frequency of transaction in

bank account

44. A document which can be used only

for making local payments by a bank

is a ....................... .

(A) bankers cheque

(B) cheque

(C) draft

(D) bill of exchange

45. The bank which provides long-term

finance is a ....................... .

(A) exchange bank

(B) investment bank

(C) universal bank

(D) lead bank

43. ,[kknh O;Drh vf/kdks"kkpk xzkgd gks.;klkBh

---------------------------- vl.ks vko';d vkgs-

(A) dks.kR;krjh Lo:ikrhy [kkrs

(B) dk s.kR;kgh i zdkjpk fdeku ,d

O;ogkj

(C) vf/kdks"kh; Lo:ikps O;ogkj

(D) c°d [kkR;ke/khy O;ogkjkaph okjaokfjrk

44. dsoˇ LFkkfud ikrˇhoj 'kks/kuklkBh (iSls

ns.;klkBh) T;k i=kpk c°ds }kjs okij dsyk

tkrks R;kyk ---------------------------- vls Eg.krkr-

(A) c°djpk /kukns'k

(B) /kukns'k

(C) fod"kZ

(D) gqaMh

45. nh?kZdkyhu foŸkiqjoBk dj.kkjk vf/kdks"k

Eg.kts ---------------------------- gks;-

(A) fofue; vf/kdks"k

(B) xqaro.kwd vf/kdks"k

(C) oSf'od vf/kdks"k

(D) vxz.kh vf/kdks"k
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46. A currency that is freely convertible

into other currencies is a ............. .

(A) soft currency

(B) hard currency

(C) currency basket

(D) special drawing rights

47. The economic philosophy that

equates the possession of Gold or

other International monetary assets

with wealth is ......................... .

(A) naturalism

(B) environmentalism

(C) materialism

(D) mercantilism

48. When the goods are loaded on

the ship the document that is

furnished to the Port Superinten-

dent is called as :

(A) bill of lading

(B) bill of sight

(C) mates receipt

(D) goods receipt

46. th eqÊk nqlÚ;k dks.kR;kgh eqÊse/;s eqDri.ks

ijhorZuh; vkgs fryk ---------------------------- vls

Eg.krkr-

(A) lgtlk/; pyu

(B) nq"izkI; pyu

(C) pyulewg

(D) fo'ks"k vkgj.k vf/kdkj

47. lqo.kZ (Lo.kZ) vFkok brj vkarjjk"V™h; ekSfÊd

laiŸkhpk laxzg Eg.kts laiŸkh lao/kZu vkgs] ;k

vkfFkZd rŸoKkukl ---------------------------- vls

Eg.krkr-

(A) fulxZokn

(B) i;kZoj.kokn

(C) bgokn

(D) O;kikjokn

48. tsOgk tgktkoj oLrwlkBk p<foyk tkrks R;koš h

canjkP;k i;Zos{kdkyk ts dkxni= fnys tkrkr

R;kyk ---------------------------- vls Eg.krkr-

(A) cksVhojhy gqaMh

(B) n'kZuh gqaMh

(C) dIrkukph ikorh

(D) oLrqph ikorh
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49. vls {ks= T;ke/;s fof'k"V ns'kkapk lewg

O;kikjkojhy fuc±/k vkf.k vojks/k dk<wu

Vkd.;kl r;kj vlrkr vkf.k deh njkus

iz'kqYd vkdkjrkr R;kl ---------------------------

vls Eg.krkr-

(A) tdkr lewg

(B) lkeqnkf;d cktkjisB

(C) 'kwU; iz'kqYd {ks=

(D) eqDr O;kikj {ks=

50. oLrq o lsok vk;krhP;k djkjkr jk s[k

jdesf'kok; nqlÚ;k iºrhus 'kks/ku dsys tkrs

R;kyk ---------------------------- vls Eg.krkr-

(A) vkarjO;kikj

(B) izfrO;kikj

(C) 'kwU; Li/kkZ O;kikj

(D) vkarjjk"V™h; O;kikj

49. The area where a group of countries

agree to abolish all trade restrictions

and barriers and charge low rates

of tariff is ....................... .

(A) customs union

(B) common market

(C) zero tariff zone

(D) free trade area

50. An arrangement to pay for import

of goods and services in which

something other than cash is paid

is called as ....................... .

(A) intertrade

(B) countertrade

(C) zero competition trade

(D) international trade
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Instructions for the Candidates
1. Write your Seat Number in the space

provided on the top of this page. Write
your Answer Sheet No. in the space
provided for Answer Sheet No. on the
top of this page.

2. Write and darken Test Booklet No. on
OMR Answer Sheet.

3. This paper consists of Fifty (50)
multiple choice type of questions.

4. Each item has four alternative
responses marked (A), (B), (C) and (D).
You have to darken the responses as
indicated below on the correct
response against each item.

Example : A B C D

Where (C) is the correct response.
5. Your responses to the items for this

paper are to be indicated on the
Answer Sheet only. Responses like ( × )
( 3 ) ( / ) and light shaded responses
will not be considered/evaluated.

6. Read instructions given inside
carefully.

7. One Sheet is attached at the end of the
booklet for rough work.

8. You should return the test booklet and
answer sheet both to the invigilator
at the end of the paper and should not
carry any paper with you outside the
examination hall.

9. Answers marked on the body of the
question paper will not be evaluated.

ijh{kkFkh±lkBh lwpuk
1. ;k ikukojhy ojP;k dksiÚ;kr vkiyk vklu ÿekad

rlsp vki.kkl fnysY;k mŸkjif=dspk ÿekad
R;k[kkyh fygkok-

2. iz'uif=dk ÿekad OMR mŸkjif=dsoj fnysY;k
jdkU;kr fygwu R;kizek.ks dkˇk djkok-

3. ;k iz'uif=dsr iÈkkl cgqfuoM iz'u vkgsr-
4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh

pkj fodYi mŸkjs fnyh vkgsr- R;krhy ;ksX; mŸkjkpk
jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks dkˇk
djkok-
mnk- A B C D

tj (C) gs ;ksX; mŸkj vlsy rj-
5. ;k iz'uif=dsrhy iz'ukaph mŸkjs mŸkjif=dse/;sp
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ukgh-
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7. dPP;k dkeklkBh iz'uif=dsP;k 'ksoVh dksjs iku

tksMys vkgs-
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mŸkjif=dk nksUgh i;Zos{kdkauk ijr djkoh- ;krhy
dks.krkgh dkxn rqeP;k cjkscj ijh{kk dsaÊkckgsj
us.;kl lDr eukbZ vkgs-
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